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Caput 1

Financial Derivative Theory

Two things in finance: Value and Risk.

Definition

Risk is uncertainty /randomness in market price.

Risk assessment is a major agenda of governments. Computing is key to assessing the performance of
dynamic trading strategies and valuation of financial instruments.
Key component: Derivative market.

Note. Options have a long history. Thales (Mathematician and Astronomer) in 332 BC observed the stars on
the sky and predicted olive harvest based on the stars. When the harvest is predicted to be good, the demand
of olive press will be high.

The nature of Thales’ scheme is a contract with olive-press owners. Thales gives the olive press owners a
fixed amount of money and then the owner lends Thales the olive-presses a few months after the contract is
signed.

The fixed amount of money here is the price of this financial derivative.

In the 17th century, Holland had a Tulip Mania. The price of Tulip has bubbled to extremely high prices but
the bubble eventually bursted. Tulip growers during the mania anticipates uncertainties in the price of Tulip.

Another type of business during Tulip Mania is reselling Tulips.

Option trading is a risky business. From 1733 — 1860, it was illegal in Britain to trade derivatives.

The pricing of options is not solved until 1973 when the Black-Scholes formula won a Nobel Memorial Prize
in Economics.

1.1 European Options

Definition

A financial derivative/option is a financial contract whose value at the future expiry time T is
determined exactly by the market price of an underlying asset at T

The unit of T is year.
An option consists of:

e A underlying price S (tulip, stock, index)
e Expiry time T’

e payoff(Sy): Payoff based on the future price Sy of the asset.



The value of the option at the expiry time is Vi = payoff(Sr). The question of option pricing is to evaluate V),
the value of the option at the present time.

The seller of the option is the writer and the buyer is the holder. In essence, the holder buys insurance,
and the writer buys risk.

Definition

A European call option is the right (which can be or not be exercised) to buy an underlying asset at the
present strike price K. The right can only be exercised at the expiry time T'.

A European put option gives is the right to sell an underlying asset at a preset strike price K. The
right can only be exercised at expiry.

e The holder enters a long position.

e The writer enters a short position.

There is an asymmetry in this configuration. The holder has the option to exercise the right of the option,
but the writer does not. Let S(t) denote the underlying price at time ¢. The function S is a Stochastic process.
Let V(t) ro V(S(t),t) denote the option value at time t.

Example: Tulip Pricing

Consider an European call option with price K = 0.5. At expiry T, the underlying price S(T) = 1. In
this case, S(T) > K, so the holder exercises the option.
However, if S(T") = 0.2, then the holder would not exercise the option, rendering the option worthless.

The value of a European call option at expiry time is:

S(T)— K ifS(T)>K

V(T) = max(S(T) — K,0) = {0 if S(T) < K

The value of a European put option is
V(T) = max(K — S(T),0)

This value is the payoff. The option specifies the payoff function payoff.
We focus on stock option. We assume T < 1 year (this allows us to ignore the variation in interest rate)

Definition

A stock is a share in the ownership of a company.
A stock may pay dividend to stock holder from the profits.

Dividend is usually specified as a proportion of the stock price. Note: The holder of a stock option does not
receive dividend.
The question of option pricing: Given

e Expiry time T

e 5(0)

e Payoff function payoff
Evaluate V(0).

e Following Sage’s realisation, focus on determine the relationship between S and V at any time ¢ and any
S, ie. V(S,t).

e If this can be done, today’s option value V(0) = V(5(0),0) is known.



Descriptio 1.1: One-Period Binomial Option and its value

p=0.1 p=0.1
p=09 p=09

Note. The hundred year discovery of option pricing:
1. In Louis Bachelier’s PhD thesis, S(¢) is modelled as a random walk.

2. In 1950, Samuelson modeled S(¢) using log-normal random walk and solved the negative price problem.

3. In 1970, Merton, Black-Scholes formula.

1.2 1-Period Binomial Model
Assume underlying asset behaves in the following way:
e S5(0) =20
e Assume 1" =1

e Assume that one of the following happens at t = T":

A naive pricing at ¢ = 0 is V(0) = 0.1 - 1, but this is not correct for a number of reasons:

1. There is no interest rate

2. The underlying asset can be traded. The option also can be traded.

1.2.1 Bonds

Definition

A riskless bond is a financial instrument whose value §(t) at time ¢

B8 - B
5—0 B(t)d

where continuously compounding interest rate is a rate r > 0.

The continuous compounding rate can also be expressed as

dB(t) rdr

B(t)



This can also be expressed as an ordinary differential equation (ODE)

a8 _

dr =B

so B(t) = B(0)e™.
When lending (depositing) money to a bank, this is equivalent to buying a bond from the bank. Borrowing
money from a bank is equivalent to selling a bond to the bank.

1.2.2 Arbitrage

When pricing an option, we do not want any party to get “free lunch”.

Definition

An arbitrage is a trading strategy to make a riskless rate of return which is greater than the risk-free
rate r > 0.
The risk-free rate is the bank overnight lending rate (bank’s rate of return).

Note. There is also statistical arbitrage which is not covered in this course.

Definition

The fair value of a financial instrument such as an option, is the price which does not lead to arbitrage.

Arbitrage can only occur momentarily. Under no arbitrage, two instruments have the same value at a future
time, they must be priced at the same price today.

We represent a trading strategy as a portfolio, which is a collection of positions (long, short) in a collection
of assets. Example: Buy 1 share of a stock and borrow $100 (selling a bond) today. The profit of the trading
strategy is

m(0) = \1/_/-5(0) —100

~——
long short (selling)

A long position benefits from increased prices and a short position benefits from decreased prices.
At time ¢ > 0,
m(t) =1-s(t) — 100e"™

An arbitrage strategy can be described as
e A portfolio with today’s value w(0) = 0 but #(¢) > 0 for ¢t > 0.
e A portfolio with today’s value m(0) < 0 but 7(¢) > 0 for some ¢ > 0.

1.2.1 Put-Call Parity.
Assume stock S(t) does not pay dividend, interest rate r > 0 constant, and no arbitrage. Then at any time
0<t<T, a European call C(t) and put P(t) with the same strike price and expiry T on the same underlying
S, satisfy

C(t) = P(t) + S(t) — Ke "

Proof. At time T, we have

Q
3
I

max(S(T) — K, 0)
max(K — S(T),0)

|
3
I

” C(T) — P(T) = max(S(T) — K,0) — max(K — S(T),0) = S(T) — K

This is a trading strategy expressed in two different ways:

e Left: A long on C(T) and a short on P(T)



Descriptio 1.2: One-Period Bond and its value

Descriptio 1.3: One-Period Binomial Option and its value
uS(t) V(t+1)

ds(t) Vit 41)

e Right: Holding the share S(T).
The value of S(t) — K at time ¢ is

Hence

1.3 Pricing of 1-Period Binomial Model

Assume S(t) > 0 and 0 < d < u (market down and up), and 0 < p < 1 such that

{P@@+n=uam —p
P(S(t+1)=4dS(t)) =1-p
Assumption:

e Frictionless: No transaction fees during trading

e Short selling: Can sell something not owned.

e Asset is infinitely divisible. (In real markets assets have granularity)

e No arbitrage exists.
rAt <

Note that under this assumption, d < e U.
e No dividend.
e Risk-free rate » > 0 is constant.

1.3.1 Proposition.
The value of the option today is
V(t)=0-5(t)+n-pB()

where §,m are the unique coéfficients such that
L uS®)] [n] _ [V*(t+1)
1 dS@)| 6]~ [Vit+1)

and B(t) is a risk-free bond with B(t+1) =1 (and so B(t) =e ")



Proof. Replication: Consider a linear system
1 uS@)] [n] |1 uS(t) 5 Vit +1)
1ods] (6] = 1] " asw)] ° T v +1)

Since we assume d < u, this linear system has a unique solution.

e The LHS represents a portfolio of  bonds and § shares of S.

uS(t)

1.
[J is the bond value at ¢t + 1 (not ¢) and {dS(t)

] is the stock value at time ¢ + 1.

e The RHS is the option value at expiry.

This linear system indicates there exists a unique portfolio trading strategy w(t) = {& - S(¢),n - 5(t)} such that
T(t+1) = Vi
No arbitrage indicates that the value of option today must be equivalent to the replicating portfolio,

V(t)=6-5(t)+n-B(t)
which is the no-arbitrage pricing of the option at present time. O

1.3.2 Corollary.
If the bond price at present time is not V(t) = - S(t) +n- B(t), an arbitrage trading strategy exists.

Note. A arbitrage strategy generated by Proposition eliminates the randomness in an option. This is
hedging (reduces risk).
Notice that the uncertainty p does not appear in the linear equation for 7 and J.

In the example for S(0) = 20, we have

1 22 [n] [ wS@)] [n] [V'E+1D] [1
b= sl B = e ] =
which evaluates to § = 0.25,7 = —4.5 (borrow), and the call option value is
C(0)=0-50)+n-6(0)=025-20—45=0.5
If the price is different, arbitrage exists:

e If C(0) = 0.95,

Position at t is
m(0) = —0.95+0.25-20 — 4.5 = —0.45

i.e. sell call for 0.95, buy 0.25 share, borrow —4.5.

Then
7(T)=—-C(T)+0.255(T) —45=0

1.3.1 Risk Neutral Valuation

Consider another linear system:
1 W+ 1 7/)d _ e A _ | Bond price today (1.1)
uS(t) ds(t) T | S(t) | [Stock price today :
This coéfficient is transposed from Proposition
The first term " is the “up” state and ©“ is the “down” state. The wu’d coéfficients are weights which
relate the future value to today’s value.

Solving the system gives
,l/}u _ e—rAtq*7 wd _ e—rAt(l _ q*)



where At
. e°t—d
u—d

No arbitrage assumption implies 0 < ¢* < 1.
Substituting into the second row of Equation (1.1}

S(t) =e " (q" - uS(t) + (1 — ¢*) - dS(1))
= e "AE[S(t + 1))

where Eq uses ¢" as a probability.
From the first row of Equation (note that § is deterministic)

B(t) = e "MEQB(t + 1)]
Recall that the pricing of 1-period binomial option is

V(t)=6-5(t)+n-B(t)
Substituting,

Vi(t)=0-5@)+n-B(t)
=30 "M uSt)+ (1 —g)dt) +n-e Mg 1+ (1—q") 1)
= "G uS(t) + 1) +e AL —¢) (- dS(t) + - 1)
— e MGVt 4+ 1) e A (1 — ¢V + 1)
= "MEQ[V(t+1)]

Under no-arbitrage assumption, there exists a unique probability ¢* such that today’s option value V (¢) is the
discounted expected value of the future option value using ¢*.

Note. p is the probability of actual asset movement. ¢* is a probability construct derived from no-arbitrage
assumption.

1.3.3 Proposition.

Assume no arbitrage, then there exists a risk neutral probability ¢" = CT:j;d € [0,1] such that
—rA
B(t)=e " - Eq[B(t + 1)]
S(t) =e " Eg[S(t +1)]
V(t)=e " Eg[V(t+1)]

(converse is also true)

Risk neutral pricing indicates we can compute option value today by taking the expectation of option value
in the future. In a world modeled by ¢* and Eg, 8,8,V all grow at the risk-free rate.
Back to the example with v = 1.1,d = 0.9, we have

” 1-09

=17 09058 C(0)=05-1+05-0=05

q
This is a very simple model and is unrealistic given the long time interval At. However, if we split the time
interval into many short periods and assume that the asset price fluctuates to one of two values in each period,
the model becomes more realistic.



Descriptio 1.4: Binomial Lattice Model

n—+2
S;

1.4 Multi-Period Binomial Lattice Model
We divide [0, T into
Th=0<T) < - <TITny=T

where T,, = nAt and At =
In the binomial model, I

2l

t

@

So =So,  S":=8(T,)
and let S} be the price at T,, with j =0,1,...,n.

Note. Convention: If only a subscript is used, the subscript denotes time. If both superscript and subscript are
used, the superscript denotes time.

n+1

From S} in At, the price at the next step S""" satisfy

P(S™ = S = uSpIS" = 57) =
P =8 =adstS" =S57) =(1-p)

Note that the subscript for falling down is j, not j + 1.

In one-period binomial model, we can replicate an option by holding a mixture of bond and stock. In multi-
period binomial model, we must dynamically trade at each time step to ensure the portfolio is a replication of
the option.

1.4.1 Logarithmic Return
Questions:
e How to determine u, d, p?
e What happens to binomial lattice if At — 07

In finance, instead of price at T,,, we consider the logarithmic price
X(Tn) = log S(Tn)

This can be expressed as

S
Xp1 = log8, ;1 =log$, +log == = X, + AX,

X is log return, and
P(AX,, =logu) =p
P(AX, =logd) =1-p



Logarithmic return is similar to simple return, using Taylor series expansion.

Sn+1 - Sn ~ Sn+1 _ Sn+1 - Sn ~ Sn+1 - Sn

In the case for which
P(AX, =4+Ah) =p
P(AX, =—-Ah) =1-p
we have u = eAh, d= e_Ah7 u = 1/d. Therefore a “u” step is precisely negated by a “d” step. In this case the
binomial lattice recombine and does not drift (can always return to the origin X).
Cumulative logarithmic return on [0, 7},] is

n—1

Xy + Y AX,
k=0

Properties:
e AX, has identical distribution for any n.

o AX;,AX, are independent.

At T,,, the next logarithmic price is independent of its history. Hence

E[AX;AX;] = E[AX;|E[AX,]

1o = E[AX;] = pAh — (1 —p)Ah = (2p— 1)Ah
E[(AX;)%] = pAh® + (1 — p)AR® = AR®
oo = var(AX,) = AR*(1 — (2p — 1)?)
e On the entire period [0, 7],

N-1
Xy =) AX,
n=0

Definition

A random walk or Markov Process is a process described by

n—1

Xo+ Y AX,

k=0
where
e AX, has identical distribution for any n.

o AX;,AX; are independent.

Now if we let N — oo, Central Limit Theorem implies that the resulting lattice has a normal distribution:

25:_01 AX,, — Npg
Uo\/ﬁ

— N(0,1)

where the standard normal is given by

1 ’ —s2/2
O(z) = Wor e ds, (x € R)

10



1.4.2 Up-down ratio

How to obtain u,d? Assume the underlying stock has the following statistics:
e The average logarithmic return per year is p
e The volatility (standard deviation of annual return) is o

Then the expected log return in At should be pAt and the variance o At.
Require the binomial model statistics to match the numbers:

S(t+ At
E[log (S(t))] =plogu+ (1 —p)logd = pAt
var(log S(tSJ(rt)At)) = o’ At

Solving for (u,d, p) does not yield unique solutions.
From Cox-Ross-Rubinstein (’79),

_ 1 1
eU\/E’ d:e U\/E, p:§+§ﬁ\/xt
g

u =
Note:
e Under this construction, no arbitrage optimal value depends only on volatility, not mean (log) return
e CRR is non-drift

e There are different solutions (u,d, p)

Rolling backwards, we have the algorithm

1: procedure ROLLBACK

2: VjN — payofF(SJN)

3: forn=N—-1,...,0

4: for j=0,....n

5 V= e (VIR (L= gV
6: end for

7 end for

8: return VOO

9

: end procedure

1.4.3 Dividend

Assume that at ¢ = 0, it is known that the underlying stock pays a dividend D = p - S(¢;.7), where p is a
constant, 0 < t; < T, and ¢ is limit from the left. The dividend is paid at time ¢,.

No arbitrage implies S(t4\) = S(t4") — D, since the stock must lose value after paying dividend. Paying
dividend does not affect option contract. No arbitrage implies V(S(t), ) is a continuous function of time.

V(S(ta),ta”) = V(S(ta ), ta) = V(S(tg) — D, taN)
To extend the pricing algorithm for pricing options with dividends, we use
V(S1,ta) = V(S1 = p- Si,ta)

We can use linear interpolation from (Sg,Vy),(S1,Vi') to determine the value at (S,V’). Note that the
interpolation is valid since At is a very small value in practice.
Fix t;, we know
V(Si.tas) = f(S1), V(So.ta) = £(S0)
can evaluate V(S,t;\) = f(S) by ensuring no arbitrage across dividend payments.
1: procedure PRICE-EUROPEANOPTION

11



VN« payoff(S))
forn:N—l,...7O
for j =0,..
‘/jn —e r ( Vr_zi_+11 +( )‘/jnJrl)
end for
if t,, is dividend date
Compute Vj"(tn /) by continuity and interpolation
end if
end for
11: return VOO
12: end procedure

© P PR

—
<

1.5 American Options

Definition

An American call option is the right (which can be or not be exercised) to buy an underlying asset at
the present strike price K. The right can be exercised at any discrete time 0 <t¢, <T.

An American put option gives is the right to sell an underlying asset at a preset strike price K. The
right can be exercised at any discrete time 0 < ¢, < T.

American options are more powerful so their prices are higher than European options.
Pricing American options requires dynamic programming. At each point of the lattice, the option can either
be exercised, or not exercised.
1: procedure PRICE-AMERICANOPTION
2: VjN — payofF(SJN)
forn=N-1,...,0
for j=0,...,n
(ijn)* _ e—rAt( Vrr,il + (1 _
V" = max((V}")", payoff(5j'))
end for
end for
9: return VOO
10: end procedure

)ij—l) > Continuation Value, not exercise option

@ NPT w

1.6 Computational Complexity and Continuous Time Model

The computational complexity when pricing an option is (N 2). The space complexity can be ©(n).
It can be shown that the binomial lattice option value converge to the Black-Scholes formula. When N —
400, the European call option price converges to

C(S,t) =S - ®(dy) — Ke "D (d,)
where @ is the CDF of N(0, 1), and
log(S/k) + (r + 2®)(T — t)
oVl —t
0 log(S/k) + (r — 2®)(T — 1)
2 oVl —t

(T —t) is time to expiry. There is a corresponding explicit formula for put.
There is no explicit formula for American options.

dl =

12



Caput 2

Stochastic Calculus

2.1 Brownian Motion

Consider a discrete random walk with Xy = 0 and

{P(AXn = +VAl)

N[ D=

Now we let At — 0. This gives the standard Brownian motion.

Definition

The Standard Brownian Motion is the limit Z(¢) of X,, with At — 0 with the properties:
e 7Z(0)=0

e For all t > 0 and At > 0,
Z(t + At) — Z(t) ~ N(0, At)

e For any 0 <t <ty <t3<ty, Z(ty) — Z(t,),Z(t4) — Z(t3) are independent.

Note that Z(t) ~ N(0,¢). The Markovian property is constant with the market efficient assumption.

Definition

An It6 Process is a function
dX(t) =a-dt+b-dZ(?)

where a, b are stochastic processes.

The Black-Scholes Model is a stochastic differential equation (SDE)

%(;;) = pdt + o dZ(t)

where p, o are constants.
Notice that the Black-Scholes model is a Ité process with a = uS(t),b = oS(t).
Recall the bond ODE has a solution

loz 3(1) ~ 108 5(0) = [ a(t) = rt

Assume ¢, is standard normal, the definition of Brownian motion implies

AZ(t) = ¢(t) - VAL

13



When At — 0,

Z(t) is continuous but not differentiable.
Recall the moments of standard normal:

and AZ(t) = ¢(t)V/At, so

E[AZ(t)?] = E[¢(t)VAL] = At
var AZ(t)* = E[AZ(t)"] — E[AZ(t)*)? = 3(At)* — (At)* = O((At)?)

Therefore var AZ(t)? goes to zero quadratically, and so (dZ(t))? is deterministic, and thus

(AZ(t))* = dt

2.2 Itd’s Integral

In classical calculus,

T
‘/0 f( t:Ngr-Il-loto

Definition

Let f,Z be Stochastic Processes, the Itd’s Integral of f w.r.t. Z is

T N—-1
/0 f(t)dZ(t) = lim (Z f<tn>-<Z<tn+1>—Z<tn>>>

N—
teo n=0

where the limit is taken in the mean square sense, i.e.

N—-1 T
Jim E [(g £(tn) - (Z(tnsr) — zm») - / f(t) dza)] -0

Note that Zg;ol f(t,) - (Z(t,41) — Z(t,)) is random.

The integral can also be written as 2712:01 f(tpny1) - (Z(tny1) — Z(t,,)), but this sum is no longer causal and
requires knowledge of the future.

How does the option value V(S,t) change if

dS(t) = aS(t) dt + oS(t) dZ(t)

Assume that
dS(t) = a(S,t) dt + b(S, t) dZ(t)
For Black-Scholes Model,
a(S(),8) =4S, BS(E), 1) = oS(1)

2.2.1 Itd’s Lemma.
Let G(s,t) : R* = R be a smooth function, and Y (t) = G(S,t) an It6 process.

Then 2
(oG (9G 1 50 oG
dY(t) = (875 +a(S,t) S 2 (b(S t) 52 )) dt + b(S,t)— S dZ(t)

14



Proof. Using Taylor expansion, for At > 0,
AY(t) = G(S(t) + AS(¢),t + At) — G(S(1), 1)
oG G 19°G

= %AS(t) + EAt + 2557

9°G

AS(t)? + 2 2507

AS(t))At + O(At?)

Notice that
(dS())? = (adt + bZ(t))?
a®(dt)? + b*(dZ(t))* + 2abdt dZ(t)
=bp*dt

Let At — 0 and substitute into the Taylor expansion above,

oG oG 19°G G )
AY(t) = %AS( )+ EAt + - 5 952 —5 AS(t 2+ 888t(AS(t))At+ O(AtY)
(oG G 1 2 0°G G
= <6t a8, 1) + 5b(S, 1) o >dt+b(S B)5g *d2(t)

2.3 Monte-Carlo Option Pricing

Recall for no-arbitrage binomial model,
S(tn) = eirAtEQ [S(tn+1)]
V(S( ) n) = eiTAtEQ[V(S(tn—H), tn—i—l)]

Thus

S(tn+1) _ rAt 2

This shows
and therefore

Linear convergence: It can be shown that
Vo ¢ (At) = V5™ 4 (const.) - At + o(At)

Then tree
Vo (

A
2
im =2
80 V5™ (BL) — V5™

b = Vo™ (A
3)
2

In quadratic convergence,
Varee (At) = Ve + (const.) - At + o(At?)
In Black-Scholes Model,
ds(t)
——= = pudt dZ(t
s At (t)
Define G(S,t) :=logS. Then

_ (oG G 1 2 0°G 9G
dlog$ = (at a(S,) 55 + 5 (b(S 1)~ )) dt +b(S, 1) e dZ(t)

1
= (u— 50-2)dt+adz
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Integrating on both sides,

t

1ogS(t)—1ogS(0):/t(u—;UQ)dH/ odZ

0 0

= (1~ 30°)t + o(2(1) - 2(0))

Hence )
S(t) = S(0)elHm 2T IHILD

Note that the only source of randomness in this stochastic representation is Z(t).
Approximating using tree model:

V(S(0),0)) = e_rTEQ[Pa}’Off(ST)]
M
~ efTT% Z payoff(S%)

Jj=1

Under risk-neutral probability, p =

S(T) — S(O)e(’l‘—%az)T-‘y—O‘ﬁz

2.4 Numerical Solutions to SDE

Consider an Itd’s Process:
dX(t) = a(X,t) - dt + b(X,t) - dZ(t)

This means

t+At t+At
X(t+ At) = X(t) + / a(X(t),t)dt + / b(X(t), t) dZ(t)

Assume 0 =ty < -+ <ty =T, where t,, = n- At, in [t,,t, + At]:

AL
/ a(X(1), 1) dt ~ a(X(t,),t,) - At

n

t, +At
/ DX (1), ) AZ(t) = b(X(t,),1,) - AZ(t,)

n

where AZ(t,) = Z(t, + At) — Z(t,).
Euler’s method:

X(thrl) = X(tn) + a(X(tn)’ tn)At + b(f((tn)v tn)\/ﬂ : Z(t)v (Z(t) ~ N(Oa 1))

has weak convergence of order g = 1:
[Elg(X(1))] — Elg(X(1))]| = 0((a1)")

This is known as a weak convergence since it is convergence w.r.t. the functional X — E[g(X)].
Strong convergence of order v is,

E [[x(1) - X)|] = o((an")

Strong convergence is much more stringent. Euler’s method has strong convergence with vy = 1

5
Milstein’s method is a higher order method which is better than Euler’s method:

Rts1) = K1) + a(X(0,), 1AL+ BR(1), 6)AZ(1) + 5K (1), 1) PO (K(1,0,1,) (200,07 - A1)

The second order term is directly derived from It6’s Lemma. Milstein’s method has weak and strong convergence
of order g =~ = 1.
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Caput 3

Hedging and Risk

3.1 Barrier Options

Definition

A Barrier option has a barrier b. If the stock price rises to barrier b makes the barrier option worthless,
the option is a out option. If the stock price rises to barrier b makes the barrier worthwhile, the option
is a in option.

The Barrier option is up if b > S(0).

Definition

An Asian option has a time T and the option’s value depends on the average price % fOT S(t) dt with

payoff
1 T
max(— / S(t) dt,0)
T Jo
Let t,, =, + At, At = L. Then
1 n
k=1
1: procedure PRICE-ASIANOPTION
2 So=25y-1 > Spawn m trajectories
3 forn=0,...,N—1
4: A AL+ HLH.S'"
5: z ~N(0,I)
6 Sii1 < 8 e(r—%JQ)At+amz
7 end for
8 p+ max(Ay — K1,0) > Payoff
o Ve e TR

10: end procedure
Using Central Limit Theorem,

N 1
Vo — Vo ~ N(0, —a*(V;))

m
and

m—1

S v\
6= =1
/. Do not use the t-distribution here since normality is approximate.

17



3.2 Delta Hedging and Greeks

In option heding:
e Rebalancing position dynamically as discrete time
e Important risk management strategy

We conduct a model based heding analysis, which corresponds to the dynamic hegding strategy

{ V(@) ., 6@)-S¢t) ,p@)}
S—— — ~~
Short option §(t) units of underlying Cash

Simulate S(¢,) based on the Black-Scholes model

ds(t)

—— =pu-dt -dZ(¢

s Hdtre (t)
Note. Not risk neutral.

If a binomial model, we can solve the replicating equation

n+1 n+1
57}:VJ’+1 VY Nal(sﬂt)
T T w=d)s;, a9

J

The quantity § is the number of shares we need to hold during [¢,,t,,[ to replicate the option, it is the
sensitivity of V w.r.t. S:
oV (S,t)
0(t) = ——=~
(t) 59
Initially,

We balance with cash account

The portfolio is
T=-V+46-S+3

e At 0: 7 is balanced at 0: 7(0) = 0.
o At t,: m(n) = -V (S,,t,) + 9,5, + B
e At t,,1: Rebalancing position in shares and updating cash account so that

m(tnt1) = W(t:H)

(Self-financing)
This requires
—V(Spt1stusr) + 0Sns1 + Bue™ = =V (Sui1.tusr) + 0nr1Suts + Bu
SO
Bur1 = B + (8, — 0, 11) S
e If6,,1 > d,, buy additional 6,, .1 — J,, units.
o If 6,4 < J,, sell additional —(d,,,1 — ¢,,) units.
At expiry T = ty, liquid the portfolio formed at ¢, _;, which has value 7. Note that 7, is random.
e 7 = 0: Perfect hedge
e 7 > 0: Profit for writer
o my < 0: Loss
7wy is heding error. We often consider the following quantity
efrT,]rN

P = V0

18



3.2.1 Computing Delta

The above way of calculating 4,, is the finite difference approximation:
OV (Sy,0)  V(Sy+ AS,0) = V(Sy,0)
oS a AS

V(Sy + AS,0) and V(Sy,0) are computed using Monte-Carlo simulation.
What is the problem with the approximation below?

oV (S5p,0) o' mean(payoff(S(T))|So + AS) — mean(payoff(S(T))|Sy)
s AS

The error in each mean is O(1/v/M). Dividing this by AS generates an error of

1
VMAS

so the number of trajectories M must grow Q(AS™?).
Solution: Use the same set of sample paths to cancel sample error. Example:

O(

)

z ~N(0,1)
St = Soe(r_%a2)T+aﬁz

Sy = (So + AS)e(r—30 ) THoVT=
Vy = e""'mean(payoff (S(T)))
Vo = e""'mean(payoff (S(T)))
V-V

AS

do

3.2.2 Delta and Gamma Hedging

Delta Neutral: If §(t) = BV(S Y the hedged portfolio 7 = {—V,§ - S, 3} satisfies

or )% ov oV
% —ﬁ—ké 1+0= %4—% 0

Delta hedging eliminates the sensitivity of option value to underlying, up to 1st order.
Gamma is the second derivative. We may wish to eliminate 2nd order sensitivities.

on _ o
28 9s*

Consider an additional instrument, e.g. liquid option on S. We want this instrument I to have
e.g. Hedge a long-term option using a short-term option.
Let
T = {-V,él . I,(SS . S,B}
This portflio needs to satisfy

on oV ol
$—7ﬁ+51%+55~170
?’c 0V I
@ 52 T =0
oS oS oS
(9V

Vega is

19
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Descriptio 3.1: Left tail of the distribution of P&L represents VaR.

3.3 Risk Valuation

The Black-Scholes model can be used to assess the risk of weekly hedging compared to daily hedging.
For stocks, volatility o measures risk.
How to quantify risk? Suppose we have a portfolio 7 = {S, C, P}.

1. Generate m trajectories of stock prices at time 7.
2. Calculate option prices.
3. Calculate the distribution of 7(T") — 7(0).

The standard deviation of 7(T") — w(0) does not really convey the risk of the portfolio. The market tend to
periodically crash.

Note. In 1987, Alan Greenspan proposed that the worst case measures the risk.
(from Weatherstone, JP Morgan’s CEO): At market close (4:15pm), generate a report which captures the
loss

Definition

Value-at-Risk (VaR) is the predicted maximum loss with a particular probability.
VaR is usually communicated as “With 100(1 — «)% confidence, the minimum P&L in time 7' is ...”.

i.e.
VaR
/ p(z)de =«

— 00

where 7(T) — w(0) ~ p.
For discrete scenarios, VaR is the maximum P&L value x such that

VaR = argmax P(n(T) —7(0) < z) < «

VaR is an extension to the notion of minimum P&L since minimum often does not exist.
One problem with VaR is that it does not provide information on the extent of the loss beyond the quantile.

Definition

Assume P&L distribution is continuous. The Conditional Value at Risk (CVaR) is
CVaR = E[n(T) — #(0)|x(T) — 7(0) < VaR|

Interpretation: The expected P&L, given that we are expecting the worst a probability scenarios.

The advantage of CVaR is CVaR is a coherent risk measure it satisfies the properties

1. Normalised: ¢(0) = 0, risk of holding nothing is zero.
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2. Monotonicity: If m, 7, are portfolios with m; < my, then o(m;) > o(my): If w5 has better values than my,
it almost always has lesser risk.

3. Translational invariance: o(m + A) = o(m) — a, where portfolio A is adding cash a to portfolio 7.

4. Convexity: If 7, my are portfolios and A € [0, 1],
o((1 = N)my + Amy) < (1= Ao(m) + Ao(m)

VaR does not satisfy convexity.

3.3.1 The Greeks
The following Greeks were defined:

ov
= a5
_ 0V
Y= g?
v
V= e
It can be shown that for call options
oV ' (dy)
T 90 O'SO\/T
where
@(d) = e I

the V for put options is the same via Put-Call Parity.
Since V > 0, the option value C(o; S(0)) is strictly monotonically increasing w.r.t. o > 0.

3.4 Volatility Surface

Assume today’s market price V of an option is observed. We can invert a volatility & from the market such that
Ves(6) =V

This is the implied volatility. Implied volatility tells a trader the expected volatility over the life of the
option, from the option market’s perspective. Implied volatility cannot always be solved. A unique positive
implied volatility exists only if the market price exists in the range which can be generated by the Black-Scholes
formula, i.e.

max(0,5(0) — Ke ") <V < 8,

If Black-Scholes formula is entirely correct, the implied volatility w.r.t. the strike price and expiry time
should be constant V(K ,T), but Black-Scholes formula is not entirely correct so V(K, T) forms a volatility
surface.

The implies volatility is a root of R

f(o) = Ves(Sp,0) =V =0
If Black-Scholes model is correct, ¢ is the same for options on the same underlying asset. Empirical evidence
indicates that the implied volatility changes with strike K and expiry T'. This is the implied volatility surface.

Usually & is descending w.r.t. K.

Manaster and Koehler in 1982 shows that, let

~2
g =

T

So 2
log — +7rT| =
w524
starting for o, Newton’s method converges to implied volatility quadratically if it exists.
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3.4.1 Alternative Models
1. Local Volatility Function Model (LVF) by Dupire 1994,

ds(t)
—= = udt S(t),t)dZ(t
s~ M +o(S(t),t) dZ(t)
where o is a deterministic function.
In risk neutral worls,
ds(t)
—= =1rdt t),t)dZ(t
s " + o (S(t),t) dZ(?)

2. Stochastic Volatility Model, Heston’s in risk neutral:

dSS(Eft)) =rdt+/V(t)dz"(t)

where V (variance) is also a Brownian process:

AV(t) = =A(V(t) — V) dt +1y/V(t) dZ2P (t)

This process is a mean reverting process since the A (speed of mean reverting) term forces the
random variable to return to the mean V.

The two Brownian motions Z(l), Z? are not completely independent, but
E[dz® - dz®] = p- dt
3. Jump Model, by Merton’s
—— =(r— kN dt+odZ(t)+ (J —1)dq(t)
where q(t) is a Poisson counting process with

P(dq(t) =1) = Adt
P(dq(t) =0) =1—\dt

A is the jump intensity.
Assume dq(t) = 1 and let S(¢™) be the price immediately before the jump. Then

S(tT)y=8(t")-J
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